
Blatt 3
Ergänze die Rechenzeichen und berechne die Ergebnisse

Addition Subtraktion      Multiplikation Division

3256 1325 1225 3  = 356 : 2  =
32565 822

56126 122512
12876 1222 3876 82  =

56
5683

868 : 7  =
368
122

3256 8212 812  =
3257

122553
87668
12252

25 5272 : 82  =
25267 125,6 82  =

376 1225
32565 1222

3256,32 568756 87,53 2,7  =
12,06 8122

562,08 583 : 3,5  =

33258
12256 1225 78363,3 3  =

1225
1225

812
2532 812812

81222 3833
81225 : 7  =

81225,6 7,83  =
122 12253
378 122

3765


